Brsisk® 105 SERMELBLERKE
£ /JA# /R

;1ﬂ%ﬁiﬁﬁ—, £ X6 7R 88(%)
=R gL ITR AT - F2 b

— - BUNRRTRIAMBER  BHRSEFRN - FRHLBOREZEE - (Z1+57)

# R # BlEKP 0 BB

— -~ B R TRES TEALTERER MRSEALE  HoMSRAELBRE SR ZZE - (-1
51)

= ERBmPTSRE AN BT  FRLERRAMAE - EOHRIIZ - (Z+9)

Py EUIHE] 2014 £EEE 2015 SERVERIAIT > B A—H Z8(fH - (=457 > §82557)

TR |H® | @E | ARe~—TAPS. |MPC |MPS
Firs
014 | 6,576,330 | 5,620,390 | A C E |/ 1T
2015 | 7061490 | 6,049,808 D F G N

A~ R (Tt sNals)

BAsEid4: (Engel Curve)
F=RIEE (Price Discrimination)
JEFIG AL (Phillips Curve)
SR (Money Multiplier)
SRJEE (Business Cycle)

u b W R«

C HERREBEE  FFHA -
Ll B mmaMAss




B gE RS /05 BEZREELEHRRA
%$/8 ' /8

s wn | Fo AR A akd g A R P8 A BOug

1. BEMNERN - SHHEEEZEERM - HORILE CHERL - SEZ -
(25 57)

2. REZEFAREEETHESHEEZABT L IREBENERT - ®RE
RAS TS R EER - SRS "EEETETRT  WHHZ
R AR EERNRAIDAGIESS ERERIET - AR HEANEILA
BIEE R © (25 57)

B A T WA U S LT 2 B T Rt DU BRI L3k E
Fing o hTEEN T EIE ABEEBERZ A s MHZAR AR
HEZUFEEHFET AREE A BERE EZ 80 S E I EE A ZHE
RERUELRERIE  ERCHEABEEBRENR=ATNa% Bl
A +E%FREE A EE LSS FE T B JRBE 0 T A SUEHIES
FHEHTEEAR « BA A FRRHBEIEEA BARKASH -

3. RIS £ A= AR s - AR - (35 7)
4. ZEIEE A BN AL DR 2 AREEES N SR EHEHR
HARE & Bl A ZPRATE?(15 77)

& o | T EERRMLESE S RTHS
T = SRAHEAMR -




Braiex® | 0SS5 WS4 EHRRE
/8 #£I1R

N tﬂll}ijp‘%}%‘/ A
3 Ik \ , : 3 1 ~
% % # 8 {%/’(7%\//'0 o B ﬁ@{/ﬁﬂ%%ﬂﬁ%ﬂéﬁmﬂ 7888 2 HHiH

1. Find an equation of the tangent line to the graph of f{x) = x’ when x = -2. Also, please
draw the graphs of f{x) = x? and this tangent line. (10%)

1
2. Please prove the area formula of irregular shape is 4= E_‘-(yi T Vin )dx .(10%)

dy X
=T, 8 =—6. 9
3. Solve — 5 ¥(8) (10%)

4. Solve dy/dx =y 9. (12%)

d f
5. Solve cosx(e”’ —y);i—:ey sin2x, y(0)=0 (13%)

6. Solve dyldx=(2x+yP—14, (OY=0.(13%)

7. The right graph is composed of a triangle and three
quarters of a circle, which radius is ¢ meters. Please find
the area of this graph and the total differential for this
area formula. Also, please explain what information can
be obtained from the total differential for the area formula.
(Note: ZAOB=90°,/CBO=6°,BC = bmeters, BO=a
meters.) (10%)

8. Polynomials of degree 2, i.e. y(x) = b, +bx + b,x”, is fitted through the given points

(x5 1), (%3, Y2 )50 (%,,,¥,) based on the sum of the squares of the distances of those

points from this curve is minimum, where the distance is measured in the vertical
direction (the y-direction). Please find the normal equations for solving these coefficients
of this polynomial of degree 2. (12%)

9. Find the Taylor series of cosx atx=0. (10%)
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HTMLS5
CSS (Cascading Style Sheets)
Google Earth
GIF (Graphics Interchange Format)
PPI (Pixels Per Inch)
SSD (Solid State Drive)
Virtual Reality
High level language
9. IDE (Integrated Development Environment)
10. Multimedia
11. OOP (Object-Oriented Programming)
12. UTF-8 (8-bit Unicode Transfermation Format)
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